2022182 -LFE L T BB  BF I H R

1
FERZITIHMEE ()

1 _ 1
A'TTY Bax=4 c. Ty D.x=—4
2. -
{x+2y=10

T IRAREH =22 KRR )

{x=2, {x=3, {x=4, {X=4,
A |ly=4 B.ly=1% C. ly=3 D.l¥=2
3.

TREKAATANC )

A. 1260° B. 1440° C. 16207 D. 18002

4, -

TR ERE o R — ARSI mr 2 ¢ )
A. IE=Z/AK; A BoENAE; C.NIERIAF; D. IENIH.

5.

THIERIERAZC] )
(A FE3x—4y=1T7] RETCARR.

(By 5 #23x—dy=178 T H A&, Bl x,y 7] AERAE T $1d.

=F:11 . {:i:_
() FH3x—dy=1 A TR PR |

=3
(D) {y =2 B R —dy=1 {1 — LA,
6. I
s (k-1 af+3=0 REFxM—T—WHR, Wak HERE



